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Complete the calculation

a) 23.4 X6 =140.4

b)3.02x8=24.16

C) 10.95X 3 =32.85
d)34.7X5=173.5
e) 82.04 X 4 =328.16

f)8.142x7=156.994

A jar of sweets weighs 1.213 kg.
How much would 4 jars weigh?

- - - -
Sweets Sweets Sweets Sweets
4.852kg

0.25 kg of flour is needed to make one cake.

How much flour is needed to make four cakes?
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Rosie is saving her pocket money. Her mum says,

[ “Whatever you save, | will give you five times the amount.” ]

If Rosie saves £2.23, how much will her mum give her? £11.15
If Rosie saves £7.76, how much will her mum give her? How much

will she have altogether?

Chocolate eggs can be bought in packs of

1,6

or 8

What is the cheapest way for Dexter to
buy 25 chocolate eggs?

e

1 chocolate egg

\ 52p y,
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8 chocolate eggs
£4

1)
&8

6 chocolate eggs

£285 y,

2000
066
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£38.80 altogether=£49.95

£1192

He should buy
four packs of 6
plus an individual

egg.



